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PREVIOUS YEAR QUESTIONS: BLOOD RELATION

Directions (Q. No. 1-3): Read the passage
given below and answer the items that follow.

A, B, C,D, E, Fare members of a family. They
are engineer, stenographer, doctor, draughts
man lawyer and judge (not in order ). A, the
engineer is married to the lady stenographer.
The judge is married to the lawyer. F, the
draught man is the son of B and brother of E,
C,the lawyer is the daughter-in-law of D, E is
the unmarried doctor. D is the grand mother
of F. There are two married couples in the
family. UPSC 2014

Whatis the profession of B ?

(@) Judge

(b) Lawyer

(c) Draughts man

(d) Can't be determined

Which of the following is/are a couple / couples ?

(a) AD only
(b) BC only
(c) Both AD and BC
(d) Both AC and BD

Whatis the profession of D ?

(a) Lawyer

(b) Stenographer

(c) Doctor

(d) Can't be determined

Directions (Q.No.4-6): A, B, C,D, E and Fare a
group of six friends. There are two housewives,
one professor one engineer one accountant
and one lawyer.lawyer is married to D. who is
a housewife. No woman There are only two
married couples in the group. The in the group

01


https://khanglobalstudies.com/

UPSC CSAT

Q4.

Q5.

Qeé.

Q7.

02

TSR 3R U st@Tsee W& €1 C TS
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E Tek TTgut et 21 UPSC 2017

Frefeiad § & oI U faarfea gura & 2

(a) AB
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is either an engineer or an accounami. C.
is an accountant, is married to F, who is a
professor. A is married to a house wife. E
is not a housewife. UPSC 2017

Which of the following is the married couples ?

(@ A,B
(b) B, E
(c) D.E
(d A.D

Whatis E's profession ?

(a) Engineer
(b) Lawyer

(¢) Professor
(d) Accountant

How many males arein the group ?

@ 1
®) 3
© 4
(d) Can't be determined

Consider the following relationships
among members of a family of six
persons A.B.C.D.E and F: UPSC 2017

1. The number of males are equals to that
of females.

2. AandE aresonsof F.

D is the mother of two person, one boy

and one girl.

B is the son of A.

There is only one married couple in the

family at Present.

o

Which one of the following inferences
can be drawn from the above ?

(a) A, Band C are all females.
(b) A is the husband of D.

(¢) E and Fare children of D.
(d) D is the daughter of F.
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forelt Ega URAR A AT §ET A, B, C, D, E, F
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A joint family consists of seven
members A, B, C, D, E, F and G with
three females. G is a widow and sister-
in-law of D's father F. B and D are
siblings and A is daughter of B. C is

cousin of B. Who is E ? UPSC 2019
1. Wifeof F

2. Grandmother of A

3. Auntof C

Select the correct answer using the code
given below:

(a) 1and 2 only
(b) 2 and 3 only
(¢) 1and 3 only
(d 1,2and3

A family of two generations consisting of six
members P, Q, R, S, T and U has three males
and three females. There are two married
couples and two unmarried siblings. U is P's
daughter and Q is R's mother-in-law. t is an
unmarried male and Sis a male. which one of

the following is correct ? UPSC 2020

(a) Ris U's husband
(b)) RisS's wife

(¢) S isunmarried
(d) None of these

P,Q,R,S,Tand U are six members of a family Ris
the spouse of Q. U is the mother of T and S is the
daughter of U. P's daughter is T and R's son is P.
There are two couples in the family. Which one of
the following is correct ? UPSC2022

(a) 1is the grandfather of T

(b) Q is the grandmother of T
(¢) R isthe mother of P

(d) T is the granddaughter of Q
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BLOOD & RELATION ANSWER KEY

Q1. A Q6. B
Q2. C Q7. B
Q3. B Q8. D
Q4. D Q9. B
Q5. A Q10. D
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